| Efficiency vs Dxy |
>.0.02r
<

E
[®)
TTTT TTT

...................................................................

[=Y
TTTTTTT1]

09 E=56-15-10 =5

11 R U T
0 5 10 15 20 25
TP dxy (cm)

—=— DOM_TT__ORIGINAL
— —e— DQM_TT__MODIFIED_layerProcv2
| Efficiency vs Dz | | . pOM_TT _MODIFIED layerProcv2 windows

—— DQM_TT__MODIFIED_layerProcv2_windows_hits
N 0.02 : ; ; ;

018 [
% R S

R I
‘o - : : : : :
$.014 B B AR frorereeeee AR A
(0] L : : : : :

L o e e

Q.01
101 .S R [ S e | S S
010107 SRR SR 10 (RN SRR 1 1 1 I

0.0041
0.002F

0
1.4F

Ratio

1.2F

1

B30 2 0 0 10 20 30
TP dz (cm)

0.8L



	Contents
	Page 1


